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Section : General Aptitude Knowledge

Q_1 'vEﬁth hz ariy ot which tﬂ:n‘t‘_v‘hﬂ.‘ Tndiat arame condnctod r tro-wreek joist mil tary cxercise “Vidh Ablyas 2015 in
Lmak_-‘.aud in Saptember 20157 Question ID : 1860452231
Ans o 1. USA Status : Answered
x 2 “Prapin Chosen Option :1
< 3. Germany
X 4 UK
Q_z The Indian Alr Foros has sussesstully cervied out the first over nuid-aic refizelling ot whish -:ii'm:li:flbw.h.lg comiat
ol Question ID : 1860452233
Ans f 1. Tejas Status : Answered
Chosen Option :1
X 2 Cheetah
X 3. Dhruv
X 4 Rudra
Q_3 Which e of the fallomeng ishinilzd as the tinest specimen of Tndo-Firitish srchitzemie ia Todin, a0d eallad the *Tajor
theRaye Question ID : 1860452228
Ans  of 1. The Victoria Memorial Hall. Kolkata Status : Answered

Chosen Option : 1

< 2. Victoria Terminus, Bombay
2 3. Rashtrapati Bhavan, New Delhi
< 4. Cellular Jail, Andaman and Nicobar Islands

Q.4 A device ased to test whether any object 15 carrving a charge or not 1s kmown as
A Question ID : 1860452237
ns - 7
& 1. Stethoscope Status : Answered
2 Coulomb device EHaRSHpNnGA
X 3. Electrostatic device

o 4 Electroscope

Q 5 Wehich airport will baoeme the first airpot of Indin ta peovidz papcriess oi wavel i fhe demestic passengers theongh

bizmenic tednology? Question ID : 1860452234
Ans ?{ 1. Status : Answered
Chhatrapati Shivaji International Airport, Mumbai Hhosen Gption:]

W 2.
Kempegowda International Airport, Bengaluru
X 3

Sardar Vallabhbhai Patel International Airport, Ahmedabad
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X 4
Indira Gandhi International Airport, New Delhi
Q.6 Groverument of whick Union Teritory as launched “Home Delivary of Puzlic Sarvices” scheme 33 aa attamipr o
climinate corruption in varicus public dealing offices? Question ID : 1860452232
Ans X Chandigarh Status : Answered
. Chosen Option : 4
X 2. Puducherry
< 3. Lakshadweep
v 4 Delhi
Q.7 “Where is the ramous and India’s largest Buddhist monasterv, Tawang Monastery, locared?
A ) Question ID : 1860452229
ns
‘-’ ' Arunachal Pradesh Status : Answered
x 2. Asszam Chosen Option : 4
X 3. Nagaland
/< 4. Manipur
Q.8 Which among the following Stafes has the 1argest numher of T.ok Sabha seais?
Question ID : 1860452230
Ans  of 1. West Bengal Status : Answered
x 2 Gujarat Chosen Option : 4
X 3 Assam
7< 4. Rajasthan
Q_g . . . .
Which state is the largest producer of tomatoes in India? Question 1D - 1860452236
Ans !’ 1. Andhra Pradegh Status : Answered
Chosen Option : 2
75 2. Madhya Pradesh
/5 3. West Bengal
< 4 Gujarat
Q_10 Sy m a - .
In which year was the Gandhi-Irwin Pact signed? Question D : 1860452227
Ans x 1. 1042 Status : Answered
Chosen Option :1
< 2 1935
o 31931
X 41921
Q.11 Which ol the Qollwwing is ML anms rvment of be noneary policy of the Beserve Bunk of ludia?
A ) : Question ID : 1860452235
ns !’ 1. Goods and Services Ta_x (GST} Status : Answered
x 2. Bank Rate Chosen Option : 1
75 3. Statutory Liquidity Ratio (SLR)
/< 4. Cash Reserve Ratio (CRR)
Q.12 : : > ; 5
Which of the following pass (es) through the Indian mainland? Question 1D : 1860452226
1. The Tropic of Capricorn Stajtus +Answered
2. The Tropic of Cancer Chosen Option -3
3. The Equator
Ans X 1. Both 2 and 3
X 2 Only1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eooale Play

o 3 Only2
X 4 Both1and?2

Section : Logical Reasoning

AR LT Faod Foore sifting in a theatre fazing fhe srage. F s sithng seeond from the 1o end. T3 §5 on the immedinte
right of F. A iz af an extrems snd and Ges © as neighbour E s bereeen B and F, Whe s sitting to the right of "' Question ID : 1860452240
Ans x 1. D Status : Answered
K 2. E Chosen Option : 4

X 3B
Wi A

Q_z Abhijit leavaa his homsz and meves 30 om in nertracst dircction and A0 km in sotraest direstion, Next he moves 30
o in sowtheast divection. Then he moves 30 kn in novtheast divection. How for away is hz from his ouse? Question ID : 1860452244
Ans K 10 km Status : Answered
Chosen Option : 2
v 2 0km

2 3 30 km
X 4 20km

Q.3 Which of the Venn diagrams correctly reprozents the following clazses as applicable in India?
Question ID : 1860452249

DPresident. Cahinet. Home Ministor
’ Status : Answered

Ans

Chosen Option : 3

>

X 2

% é’.

Q.4 Trom the piven abarnatives, selact the word whizh CARNOT he2 formed neing the Jerers af the given word:
eSS Question ID : 1860452242
Ans X 1. TLUSTRE Status : Answered
x 2 SELL.DUT Chosen Option : 4
# 3 TROLLEYS
v 4 RESULTS

Q.5 1 i 7] i i 1%
Find a number, which when added to itself 14 times, gives 120. [ Question ID : 1860452247 ]
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Ans X 1. G Status : Answered
K 2.6 Chosen Option : 4
X 37
Vg
Q.6 : e I I _ .
Select the optaloﬂ which is different from the other three responses: Question ID - 1860452238
Ans x 1. OQTX Status : Answered
; Chosen Option : 3
& 2 CEHL
X 3. KMPT
v 4 NPSV
Q.7 Choose the ¢orrsct alternative from the given ones that will complets the given number series:
Question ID : 1860452239
Wylpptat s < Status : Answered
Ans X 1. 204 Chosen Option : 4
X 2248
X 3. 258
v 227
Q_B Tn e I"\IJI':A‘.whl:__; eoundam, b mmniers el o b interetamiged e mske 3 cirest. Chotese e it o e ghien
llceatisis: Question ID : 1860452245
i e Status : Answered
Ans ?f 1. 2, 3 Chosen Option : 2
2509
X336
X419
Q.9 y
An argument always has: Question ID : 1860452246
Ans x 1. Noise Status : Answered
: Chosen Option : 3
X 2. Difficulty
« 5 Disagreement
X 4 Mediator
Q_10 TR T M and Woare five consing. W is Taltthe ags of B W is twice the nge of T K is TRIFThe nge of 70 s halfthe age
©F'L. Who is the roungest of all? Question ID : 1860452248
Ans x 1. L Status : Answered
f 2. M Chosen Option : 2
X3 K
XaJ
Q_11 Given below ave two statements, Considar these statemans to e true even if they seam tactually absucd. Read the
v husions arul then decide which of e grven conclesiims logically followds) from the sven stalemenis? Question ID : 1860452241
Slatemenis: Status : Answered
te i paleue o Chosen Option : 4

Ans

2. Mo fork s a spocn.
Canelusions:

T Mo naodlz ixa spoon.
L. some forks are noodles

< 1. Neither conclusion follows.
/< 2. Only conclusion I follows.
< 3. Only conelusion IT follows.

v & Both the conclusions follow.
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[ Q.12 10t twellln day efa month s 3 deys wller Fritey, whal duy will i0oe on tae frs day of Use nuonlh !

Ans o 1. Friday
X 2. Monday
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Question ID : 1860452243
Status : Answered

Chosen Option

1

75 3. Tuesday
< 4 Wednesday

Section : Engineering Mathematics

Q.1 The expression for the truth table given below in POS form is given by:

Question ID : 1860452254
Status : Answered

Chosen Option

14

e L Rl Ll E= 1 =l =T et
] ] =1 =1 ) T e e
[ =1 ] =1 O =1 o e
=1 I e Il I et O

Ans X 1. AB’C+ABC’
W 2 (A-B+CH)ABHC’)
X 3. A'B'C+ABC
X 4 (A+BHC)ABCY)

Q.2 Two voltages given as—2 V and —1V in positive logic convention represent:

Question ID : 1860452253
Ans X 1.2 Vis Iogic 1and -1 V is lagic 0 Status : Answered
x 2 Chosen Option : 1
—5 'V is logic 0 in some circuits and 1 in the other
o 3 —2Vislogic 0 and —1 V is logic 1
X 4
—5 W is logic 1 in some circuits and 0 in the other
Q.3 The ovmber of essential prime Toolivas for the Funcio ¥ = AT DI ADCDE ARG DIATC T s pives by L
Question ID : 1860452252
Ans
x -3 Status : Answered
<22 Chosen Option : 4
W3
X4 4
Q.4 L
A buffer is: Question ID : 1860452255
Ans 3 1. Neither inverting nor non-inverting Status : Answered
: 5 : Chosen Option : 4
« 2. Inverting or non-inverting
/< 3. Always non-inverting
/< 4. Always inverting
Q.5 The current state o Q2Q1Q0 — 100 Zor the cireuit below. The next state will be
Question ID : 1860452251
Status : Not Answered

Chosen Option :

Ans
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< 3. 001
X 4110
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Q.6 The Boolean function AB+AC is equivalentto .
Ans X' 1. AB+AC+BC

X 2 A'B'C+ABC+A'BC

X 3. ABC+A'BC-B'C’

v 4 ABC+ABC'-AB’C

Question ID
Status

Chosen Option :

11860452250
:Not Answered

Section : Networks Signals & systems

Q1 PLA consists of .
Ans 1. Programmable AND and fixed OR arrays
v

Programmable AND and Programmable OR arrays
/< 3. Fixed AND and Programmable OR. arrays
X 4. Fixed AND and Fixed OR atrays

Question ID
Status

Chosen Option :

11860452259
:Not Answered

Q_2 Wher two asyichronons setive low ioputs PRESET and CLEAR are applied toa J-E flip Jop. the ovtpot will he
Ans X 1. 0
v 2. Undefined

X 3. Previous State
X 41

Question ID
Status
Chosen Option

11860452257
: Answered
13

Q3 5:32 decoder circuit can be implemented with
Ans  of 1. One 2:4 decoder and 43:8 decoders
& 2 Four 3:8 decoders
& 3 Two 3:8 decoders
2 4. Eight 2:4 decoders

Question ID
Status
Chosen Option

11860452264
:Answered
13

Q.4 Output of the circuit shown below when S =1 and S = 0 will be

>
4
=
=

Ans X 1. P and High Impedance state respectively
+ 2 High Impedance state and P* respectively
75 3. 0and 1 respectively
X 4 X and P respectively

Question ID
Status

Chosen Option :

11860452258
:Not Answered

Q.5 A particiber logic family hes VOF = 53 VOL = 1%, VIF = 3.5 pnd VT, = 2% The Moise merging values N nd
NI will be:

Ans  of 1 1.5V, 1V
X 2 5V, 1V

Question ID
Status
Chosen Option

11860452260
:Not Answered
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X 31V, 1.5V
X 4 4.1V, 5V

Q.6 Therzselution of 4 Bit counting ADC Is 0.5V For 2n enalog lupat 3.2 volt, the output of ADC will be "

Ans n Question ID : 1860452266
! 11100 Status : Not Answered
X 21111 Chosen Option : ==
X 31010
X 4 1011

Q_7 A peutden deteetor systemn vroduess v slen o G Geloey wlen voe of the three conditivay vecurs. The spsvm is
desdpnsd ae suck only wne condilivi can vecur ata ime, Whe bese concilivag are deGued 2 g razal s reepecively, the : .
vulpral Lo Lot e syslen van be gvenas Questlon ID : 1860452261

Ans X 1. Qrstrs’
v 2 qrs’tgs
X 3. qrs’tr’
X 4 qrres

Status : Not Answered
Chosen Option : --

Q.8 i ; i
The sequence detected by the state diagram shown below is Question ID - 1860452267

/0 Status : Marked For Review
/\ Chosen Option : 4
110
A — L]
oo
11 o/0 1fo e
] -— c
o/

Ans 3 1. 1110 sequence detector without overlap
< 2. 1110 sequence detector with overlap
o 3. 1101 sequence detector without overlap
/< 4. 1101 sequence detector with overlap

Q9

The output of the circuit shown in Fig. is . Question ID : 1860452256

Status : Answered
Chosen Option : 4

(O A

21 | P | 21 __ Output

1 — Mux MUK haLX

Ans x1_[}
v X
X3 A
X4

Q 10 Fora Typical CREOS pracess. the minimun f2etre size is sctto he &= 25 o The minismm line wicth at process is

sttobe ; Question ID : 1860452265
Ans x 1. 100 um Status : Not Answered
/< 2.12.5 um

W 3 50 pm

Chosen Option : --
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QM pace around condition is associated with

Ans 1. Combinational circuits

V2
Sequential circuits with level triggered clock

/< 3. Sequential circuits
/< 4. Both Sequential and Combinational circuits

Question ID : 1860452263
Status : Answered

Chosen Option : 1

Q 12 Mindznuz nuanber o8 Al Cadders, Dl adders and AWD zates required o oplement 2 < 3 Multipher s dven as

Ans 4. 1,2.6
X21,1,6
X 3 2,2.6
V21,6

Question ID : 1860452262
Status : Answered

Chosen Option : 4

Section : Electronic devices

Q.1 tind the high cut-off fraquency of second order filter as shown in the figure below:

v:% == 0.0MT = W18 Y gﬂ’ k2
= W 0.0047 aF <
Ans o 1. 1128 Hz

< 21028 Hz

X 3. 1228 Hz

/< 4 1528 Hz

Question ID :1860452273
Status : Not Answered

Chosen Option : ==

Q.2 The iruresdator in b o
el 2 mespeclively, s

=
rtj
1.

Ans X 1. 450kand 3.33k
X 2333kand 2k
X3 459kand 2k
W4 333kand 4.59k

Pinclo Fig tms =100 enel exhibits 5 vge ol 007 Vol in= 2wmA Find he wvalhes ol T
tavurrenl of 3 oot s Grough e collector and o valigge of 15 % aopears al e callecios

Question 1D : 1860452270
Status : Not Answered

Chosen Option : -

Q3 The CMOS inverter can be used as an amplifier when:
Ans 1. PMOS is in linear, NMOS is in cut-off.
/< 2. Both are in linear region.

+ 3 both PMOS and NMOS are in saturation.
2 4. NMOS is in linear, PMOS is in cut-off.

Question ID
Status
Chosen Option

11860452279
: Answered
03

Q_4 Frrgiven ap-amy cirer easidzr infinire inpit resistance nnd zeno ontpit resistanee. 1604 — 100 (apen Toop gaind fen
whar will b2 dre closad loop gain?

Ans o 1. 0.09
X 2025
X< 307

Question ID
Status

Chosen Option :

11860452275
:Not Answered
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@35 Diffusion capacitance of PN Junction Diode

Ans K 1.

increases with increasing current and increasing temperature

v 2

increases with increasing current and decreasing temperature

X s

decreases with decreasing current and decreasing temperature

X a4

decreases with increasing current and increasing temperature

Question ID : 1860452278
Status : Answered
Chosen Option : 2

Q6 YWhat is the voltage gain for the circuit given below?

Voo

"'"_| M2
Vrn_f M1

Ans 3 1. —gml (rol % ro2)
W 2 —gml (rol)ro2)
2 3 gml (rol xro2)
75 4 gml (rolljro2)

Question ID : 1860452272
Status : Not Answered
Chosen Option : ==

Q.7 In the given circuit, which type of feedback configuration is used?

Ans X 1. Series — Shunt feedback
< 2. Shunt — Shunt feedback
W' 3. Series — Series feedback
< 4 Shunt — Series feedback

Question ID : 1860452274
Status : Answered
Chosen Option :2

Q8 11 the given circuit below, what will be the value of V,?
2k0 5k

_I__W AN
V=1V X +\ eV,
Vp=2V .—’\R{\r— / "
V=3V e—ANA—] i :

Ans x1_ 8V

Question ID : 1860452271
Status : Not Answered
Chosen Option : -
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V27V
X35V
K4 4V
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Q9 Calculate the expression of output voltage for the given circuit:

+10V

Vi

+10V

Va

Ans o 1 41(V1-V2)
X 2 11(V2-V1)
X3 11(V1-V2)
X 4 41(V2-V1)

Question ID
Status
Chosen Option

11860452276
:Not Answered

. ineton ematter followsr Cirsual 12 somatiines us 111 The outpur 20l TTL gate to
10 A Darling itter follower circuit is somati 2d in the owpir stage oF TTL g

Ans 08 - Question ID : 1860452268
/< 1. To decrease power consumption Status : Answered
x 2. Decrease its IGH Chosen Option :1
< 3. Increase its Igp
W 4 To increase speed
Q_11 Whal s the peak vuipul vollape of g class B anplifier for asupple vollae of Vigs = 13V wilk an effcisncy of 53 957
I ¢ _ Question ID : 1860452277
11731V Status : Answered
K2 2174V Chosen Option : 2
W3 1317V
X 41035V
Q.12 Assums that the divsde T2 1 tedeal sl Ti2 s cut mevaltnge o 002 a8 mivens in the chendl Telow, Fiad e e vaboes of
FREIEA vl and Srrcar Question ID : 1860452269
% = Status : Not Answered
e Chosen Option : --
¥oez
e
Ans X 1. 8V and 0.5 mA
/X 2 7.57V and 0.5 mA
X 3 8Vand0.24 mA
v 4 7,57V and 0.24 mA
Section : Analog Circuits
Q.1 e anppre reststamce ol 0T when opealing mpruch o alT sl comenl 10 mA skl = 0005 Vi aivem Dyt
A ; Question ID : 1860452280
ns
x 1. 45082 Status : Not Answered
W 2 2kQ Chosen Option : ==
X 32009

X420
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Q.2 = ? = * 7 ircuit wi
If VB =1V and VE = 1.7 V, B and V¢ of the circuit will be Question ID : 1860452288
5K Status : Not Answered
Chosen Option : -
1o0v oc
Vb
sk 10V
100K e
Ans  of 1. 165 and -1.75 V
X 2150and-2.75V
X 3 0.994and-1.75V
X 4180 and 2.75 V
Q_3 An ,_N'MUG_& has Ld — Smoa, \'g_a — i, Wds— 4y and vi— 0% v [T The thickness of ovide i3 500 A%, The aspect ratio of
i i Question ID : 1860452287
Ans X 1. 1S Status : Not Attempted and
Marked For Review
X 214 Chosen Option : --
K325
W 4 35
Q.4 Fonrier Transform of sgi (1) i3 . where sgn reprasents signum fimetion.
0 e Y Question ID : 1860452291
Ans T 1. Jw Status : Not Attempted and
Marked For Review
x 2. 2_]&} Chosen Option : --
X 3 jo/2
v 4 2fie
Q_5 A MOS Capacitor with B Substoats is io acs ion mode. The it charee i the channe! is dvs o Dz
presimesof Question ID : 1860452286
Ans 5 1. electrons Status : Answered
z ; = Chosen Option : 2
/< 2. negatively charged ions
+ 3. holes
< 4. positively charged ions
Q.6 Lrans conductance of MOSFEL in lincar region can be approximated by
A Question ID : 1860452282
ns K 1. ZKWGS'VT) Status : Not Attempted and
{ : Marked For Review
> KVDS Chosen Option : --
X 3 ID(VGS-VDS)
X 4 K(VGS-VT)ZID
Q.7 Aasi senple is doped with 10 17 Arsenic atomsiem?, Displacoment of EF telative 10 Eids
A Question ID : 1860452284
ns X 1. Positive, 0.589 eV Status : Not Answered
X 2. Negative, 0.589 eV Chosen Option : -
o 3. Positive, 0.407 eV
75 4. Negative, 0.407 eV
Q.8 AnN-Channel TTTT has [y = 1 mA and Vi = -8V, Its maximum transcenductance is ¢
Ans Question ID : 1860452290
X 148 Status : Not Answered
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< 2 00025
X3028
40,0018

Chosen Option :
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Q.9

Ans

For a BIT, 22— (.97 anc enllector bass jinetion roverse satustion s given by 0.4 p A, This BIT is cennceted in comman
stinar configuration and operating w active ragion, Il 15 pA the collector cumsnt for the davies will e

7 1506 uA
W 2 498.34 uA

X 3.1.01 mA
X 4 1mA

Question ID :
Status :
Chosen Option :

1860452281
Not Answered

Q.10

Ans

Prehahility of cacrgy stats FE(Fomi T.ovel) oecnpicd Ty an clzehron st ahaolite tempermys can he approximatd as
05

X 20

X3 025

X4

Question ID :
Status :
Chosen Option :

1860452283
Not Answered

Q.1

Ans

AT 3 cometant collacter current, The mamnitnde of hase emiter voltaee decreases by 2 my for every X rice f1
lemiperalire. lere XX is

X1 3eC
X2 9eC
X 3 4°C
Wal1e°C

Question ID :
Status :
Chosen Option :

1860452289
Not Answered

Q.12

Ans

Value of current in this circuit is .
.Ee
gl |
vy —> b oy
| sl T
L
X 1. 1mA
X 2 1.7mA
'3 0.57TmA
X 4 053 mA

Question ID :
Status :
Chosen Option :

1860452285
Not Answered

Section : Digital circuits

Q1

Ans

The Nyquist plot given below represents which circuit?

Im

Re

|

/< 1. High Pass Filter
X 2. Low Pass Filter

Question ID :

1860452309

Status : Answered

Chosen Option :

2
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« 3. All Pass Filter
# 4 Notch Filter
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Q.2 Whatis Letolul power carmied by sidebands of the AN weave (DSB] fer lone modulstion or p —0 47

Ans 5 Question ID : 1860452293
! 1. 7.4% Status : Answered
X< 2 11.11% Chosen Option : 2
< 3 4.3%
X 4 8.3%
Q.3 - - - . - -
Which of the following requires least bandwidth? Question 1D : 1860452297
Ans K 1. DSB-8C Status : Answered
x > DSB Chosen Option : 4
X 3. VSB
v 4 SSB
Q_4 T dnrease e rate of venmnuzzcaion by loge 2 o Meary ¢ fearn, 1 povwer Teoud tneredees by
Ans Question ID : 1860452296
K 1. ZM Status : Answered
!’ 5 MZ Chosen Option :1
X3 M
X 4 2M
Q_5 An An’u\]i:)d: @nr{n]_nt:rl signal l.ms a :ﬂl‘l'icl' ﬁ'.:.r.p.lcr-.t'y at 10 KHz. The npeer sidehand is trensmitted af | | 557 The
Tandwidth required for e AN siansl w trassmil s 3 Question 1D : 1860452304
Ans 3 1. 10 kHz Status : Not Answered
!’ 2. 2 KMz Chosen Option : --
X 3 11kHz
X 4 1kHz
Q.6 Which moditlation technique does NOT nse past informatior: for madulation?
o Question ID : 1860452295
Ans ?f 1. Delta Modulation Status : Answered
« 2. Pulse Code Modulation Chosl Optiogiegt
X s
Adaptive Differential Pulse Code Modulation
/< 4. Adaptive Delta Modulation
Q.7 : ! 1
Number of bits per symbol in a 16 QAM is : Question ID : 1860452301
Ans ! 1. 4 Status : Answered
x 216 Chosen Option :1
X3 8
X4 32
Q.8 Lfthe constant *k” is negetive, ther what would be its contribution to the phase plat!
A Question ID : 1860452307
ns X 1.90 degrees Status : Answered
x 2. 45 de g Chosen Option : 3
/< 3. 180 degrees
W 4 0 degree
Q.9
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Inverse Fourier Transform of 8(@-aq) is

Question ID
Status
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11860452292
:Not Answered

Ans

Identify the correct definition for Phase Margin and Gain Margin:

X1

I Zain margm is a tactos by which the systern gain can be increased to drive the system jo the verze of instahbility.
11 Paase margia iz te adéitenal phase lead ot gail cross over Sregusney to bring the svstam w verse of instability

v 2

1. Zain merzin s 2 fzetor by which fhe systam gain can be increased o duive the syste to the vergs of lnstadility.
I Toms s margin is the additonal phase leg ot gain cross over frequency to bring e swstem to vergs of astanclity

X 3

I Gajn maasgin is a foetor by which the system gain can be decregsed to drive the system o the verze of insmabling.
11, Frase margin [z the additional shase l2ad & gain cross over frequency to bring tha svatam o verge of instability,

X 4

1. Gain maczin s & tactor by which the swstam eoin can be decreased to drive fle syetem o the varzs of nwmaniling
11 Miass margin is the additionsl phase lag at gain cross over frequaney to bring the system to verge of instability.

Question ID
Status
Chosen Option

Ans X 1. 2/ alwlt Chosen Option : --
X 2. alolt
W 3. &0t
X 4 27 o0
Q_10 An ap-amp based programmehlz grin ampliticr with f nogative fezdhack is dosigned. Wiich methad will ke the bes
il il Question D : 1860452306
Ans X 1. Bode Plot Status : Answered
x 9 N}’q‘i]iﬂt Plot Chosen Option : 4
v 5 Root Locus
/< 4. R-H Stability Criteria
Q.11 A system with a unity gain margin and zero pha in i
SYSIE with a llIll't'y gain margin and Zero phase margin 1s Question 1D : 1860452305
Ans X 1. sluggish Status : Answered
i Chosen Option : 3
< 2. highly stable
o 3. oscillatory
X 4. relatively stable
Q_12 The signal pnv{\:rand.nnis: prf\\'cr.ﬁlrc denotzd by & and |'.:_<1!c|j:tivc1}'. Tr'the signal power ineroases b0 35 and tie nnise
power raduges by hall, the ratio of old MR to the new SNE s given by . Question 1D : 1860452300
Ans 3 1 g Status : Answered
x 2 213 Chosen Option : 4
X315
v 1/6
Q.13 The maximum efficiency of AM modulation (tcne modulation) is :
) Question ID : 1860452298
Ans X 1. 67% Status : Answered
X 2. 30% Chosen Option : 1
X 3 70%
v 33%
Q_14 The mociulation index of an AN iodulated szl 15 0.7 and the carmies powsr s LW, Caleulals tota] sideband power
Ans Question ID : 1860452299
x 11847 W Status : Answered
X2 2314 W Chosen Option :1
X3 1239W
V41743 W
Q.15

11860452308
: Answered
1
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The hit sote of digitel eomonnicetion systzm iz M khps. The modulation nsed is 1 6-0AN. The minism bandwidth
required 1o ideal wansmission is

Ans 1. M/2 kHz

Question ID
Status
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11860452303
:Answered

Chosen Option : 4
X 2 M/16 kHz
X 3 MkHz
v 4 M/8 kHz
Q.17 % £
A practical signal couldbe . Question ID : 1860452294
Ans (4. Status : Answered
= 5 3 e ) h ion : 4
both, time limited and band limited, simultaneously Chosen Option
v
both, time limited and band limited. but not at the same time
/< 3 band limited
X 4 time limited
Q.18 - . . . .
Which of the following has the least noise immunity? Question ID : 1860452302
Ans x 1. Q AN Status : Answered
] Chosen Option : 2
v 2 ASK
X 3 FSK
X 4 PSK
Section : Control System
Q_1 A A‘i?&z\'w li:nc.s)'slun sy s the resullaz ﬁx:\\ululj:mufﬂu} and }.l{!q ha'.'in_l.; lem & m..l_d 5 r_cw’ix:l_j\'uiy. Tiwe
ﬁﬁ?ﬁj::‘ﬂ: z‘;}z:l:ﬂ;\-alu: of Dy sz W are D0 and 20 pespecilivel s Vind Lhe snaxinurm possible value D sum Question 1D - 1860452327
Ans ! 1. 3000 Status : Not Answered
. Chosen Option : --
X 215
< 3130
X 4200
Q.2 slow rezporse of an over-dampad system can be macs faster with the help of controllat,
Ans x Question ID : 1860452314
1. PD Status : Answered
!2. P Chosen Option : 1
X 3 Pl
/< 4. Remote
Q.3 e At ]
A system is given by x(t) = e® u(t). The system is Question ID : 1860452326
Status : Not Attempted and

Ans X 1. Causal and Stable
& 2 Non-Causal and Stable
« 3. Causal and Unstable
X 4 Non-Causal and Unstable

Chosen Option :

Marked For Review

Q.4 A vcondition whers inlepral conirol activn drives e oalpal ofa contoller o stundbion 1s culled

Ans ) : Question ID : 1860452315
! 1. Wlﬂd'UP Status : Answered
K 2. Noise Chosen Option : 4
7< 3. Repeat
X 4 Offset
Q.5
Question ID : 1860452310
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‘There are 2 gystems:

a. An automatic washing machine
b. An automatic intensity adjustable light bulb

Which of these systems will be more sensitive to the variation in system's zain®

Ans X 1. Data is insufficient
/< 2. Automatic intensity adjustable light bulb

< 3. Both will be equally sensitive

« 4 Automatic washing machine
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Status : Answered

Chosen Option :

4

Q.6 The fourier series expansica of szricost)) has

Ans

. Where sgu represents the signum Sunction,
/< 1. Only sine terms with even harmonics.

< 2. Only sine terms with odd harmonics.

« 3. Only cosine terms with odd harmonics.

7< 4. Only cosine terms with even harmonics.

Question ID
Status

Chosen Option :

11860452325
:Not Attempted and

Marked For Review

Q.7 What will b2 the Gain Margin (GM) and the Phase Margin (P_\ui_‘j ot aclosed loop TF

T(s) — 500000/s" + 7005 + 250000)? Question ID : 1860452312
Ans  f i o, 35 S Harked For Review
x 2. o0; 70 Chosen Option : --
X 3. 60, 70
X 4 60,35
e g Question ID : 1860452311
Ans x 1. 0.1 Status : Not Attempted and

w2 o
<3 0.2
X< 4.0.02

Chosen Option :

Marked For Review

Q.9 Find Thevenin’s equivalent resistance for the following circuit:

. ¥
W [
o .'.m
\

Ans X 1. 567 Q
v 2 6.66Q
X360
X 46330

Question ID
Status

Chosen Option :

11860452320
:Not Attempted and

Marked For Review

Q 10 e given systent is connecter 1o a ity negative Toedbeck svstem, the steacy state error af'elased Taop systzm w8
ra inputis:

PRI
%
a b
B \\
B g m\at'
£
Ans 31 0.01

Question ID
Status
Chosen Option

11860452313
:Not Answered
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X402
Q_11 = indiertes not anly whother 1 systan is stalile, Tt alsn ita degrze of stahilisy nad haw stehiling may he improved
iHeses) Question ID : 1860452316
Ans X 1. Bode Plot Status : Answered
Chosen Option :1
< 2. Polar Plot P
« 3. Nyquist Plot
& 4. Nichols Plot
Q_12 TFthe cetpar of he system a7 steady strte dacsn’t agres with the inpir, fien fhie systam is said to ave . whizh
SHREsTe,  Cenieeakban Question ID : 1860452318
Ans 1. Steady state error. accuracy Status : Answered
i Chosen Option : 3
2 2. Residual error, overshoot
/< 3. Steady state error. tolerance
X 4. Residual error, tolerance
Q_13 The Trasster Frinction of lead and Iag eompensators have and Lhaze angles respectively which mekss
hesysensand fespertiveny Question ID : 1860452319
Ans r K0 —ve, —ve, slower, faster Status : Answered
. Chosen Option : 3
X 2. +ve, +ve, slower, faster
W 3 +ve, —ve, faster, slower
X 4. —ve, +ve, faster, slower
@1 Find I; in the following circuit. Vi =Vy=1V: Question ID : 1860452322
Status : Answered
I I Chosen Option : 2
o — W\ o
+ 1062 +
¥ g ’ Y,
; 8 g ;zg .
o O
Ans X 1. 0.1A
X2 04A
X 3 0.3A
W4 02A
Q15 ; i) T o _ ;
In the given Circuit, the switch is closed at t = 0. Find the value of L. Question ID : 1860452323
. m Status : Marked For Review
l ‘ =N ‘ Chosen Option :1
@ [ 150 & i : <
Ans X 1. A
X2 —3A
X 3 3A
Wi —6A
Q.16 .z
_[_7(52 +t3+ 1)6(t—3)dt = ) Question ID : 1860452324
Status : Not Attempted and

Ans
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>
X 2
53
v

3
37
13
0

Chosen Option :
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Marked For Review

Q_ 417 v Eths ioputs 7 a conrol systai sre praduelly chianging functions of tine, then a'as tunction will bz a

Ans X 1.4.11,6.78
X 2.411,5.78
X 3.7.23.3.19
W 4 5.09,3.18

od rext signal. . .
B. ?i?n s}?c;?:su'ojcmdm sudden disturbauces, a'an Function will be o good tow sigusl Question ID : 1860452317
O For s wvslemn subjeclac o shock s, o/ Nmetion will e a g toest gl Status : Answered
Ans X 1. impulse, ramp, step Chosen Option : 3
o 2 ramp, step. impulse
/< 3. impulse, step, ramp
/< 4 ramp, impulse, step
Q18 Find the resistance R1 and R3 in the following circuit: Question ID - 1860452321
b el Status : Not Attempted and
'{f‘o"r Marked For Review
- Chosen Option : -
w4 R0
#
gl
r WA
o Vi= B¥

Section : Communication

Q@1 The following image represents:

Which of the above starements is £ are Tue:
Ans o 1. None
X 21and2
X3l

Chosen Option

Question ID : 1860452331
Status : Answered
iy Chosen Option : 2
BB A ,
i <\
0 3 \
:’ |,
N i F T
b\ ,.
| T—— serbs. i
= 'l___ — \_,-"
Ans X 1. Wave Shaping
/< 2. Shannon-Hartley Effect
o 3 Gibb’s Phenomena
/< 4 Aliasing
Q.2 Comsider lae 2 slulements:
Question ID : 1860452334
1) An odd and imaginary signal always hes an odd and imaginary Fouricr transzorm,
Iy Tae convolution of s odd fourer runsform wil and even fooner ansfomme 15 alwiys even. Status : Not Attempted and

Marked For Review
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X 42
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Q.3 Should the real time instruments like CRO and DSO be time invariant?
Ans  of 1 Yes

< 2. Never

X 3 Sometimes

# 4. No relation with the time invariance

Question ID
Status

Chosen Option :

11860452329
: Answered

1

Q.4 By thedecamposition properte of a Linear svsten, we ¢aul 5epariz cut 2 components of the Linear syvstem namaly:

Ans (1_

Zero input component, zero state component

X 2
Steady state component, transient component

X 3. Linear component, non-linear component

/< 4 Line and a Circle

Question ID
Status

Chosen Option :

11860452330
: Answered

2

Q.5 Wattmeter deflection in AC circuits is proportional to the
Ans X 1. Voltage in the circuit

« 2. Average Power in the circuit

2 3 Instantansous Power in the circuit

< 4. Maximum power in the circuit

Question ID
Status
Chosen Option

11860452337
: Answered
14

Q6 Find the current flowing through the resistor R37

R4
- -_.\
3
b
vm - R ;
=& < R2 |
<8 ~R3
V2 <8
Vi y
| 10 IVm
- -

Ans 1. 0.48A
v 2 0.96A
< 3. 0.24A

X4 12A

Question ID
Status

Chosen Option :

11860452328
:Not Attempted and

Marked For Review

Q.7 Consider ¥1(t) — x(3t) and v2(t) — x(/3). Consider the followingz statements:

1) If y1(1) and y2(1) are periodic. then X(1) is periodic.
2) If x(1) is periodic, then y1(t) and y2(1) are periodic.

Which of the above statements is/are true:
Ans X 1. None
X 21
3 1and?2
X4 2

Question ID :
Status :

Chosen Option :

1860452333

Not Attempted and
Marked For Review

Q_8 An absohurely invegrable siznal %) is known tc haveapelz at ¢ 5. Which of the following stateinents are correct?

Ans o 1. %(t) is of finite duration

Question ID :

1860452336

Status : Answered
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( 2. None Chosen Option : 3
< 3. x(t) is right sided
< 4. x(t) is not feasible
Q.9 T.etx(t) he s signal with Nyaqist rate wq. Tletermine the Nyepiist rate for v — xfjcos(wnm).
A Question ID : 1860452335
ns
x 1. W@ Status : Not Attempted and

X 2. 2wy
fS. 3wg
X 421

Chosen Option :

Marked For Review

10 Solve 15/t2 = 2/3:

Ans 1. +/-2.122
X 2 +/-2.568
W3 +/-2372
X 4 +/—2.188

Question ID
Status

Chosen Option :

11860452339
:Not Answered

Q11 The signal y(t) = T{x(t)} =sin(2at)*x(t) +ut-2)is .
Ans X 1. Linear. time variant, non-causal
« 2. Non-linear, time invariant, causal
X 3. Linear, time invariant, causal

/< 4. Non-linear. time invariant, non-causal

Question ID :
:Not Attempted and

Status

Chosen Option :

1860452332

Marked For Review

Q.12 A iz s tossad Three times. Wnar is the probability nf geting an add mimbar ar least nnza?

Ans X 1. 7/16
V2 7/8
X 3 3/16
X4 75

Question ID
Status

Chosen Option :

11860452338
:Not Answered

Section : Electromagnetic

@1 Tight is good for telecommunications because it is:

Ans 1. a high-frequency carrier

Question ID
Status

11860452343
: Answered

Chosen Option : 1
& 2 not modulated
X 3. avery low-frequency carrier
X 4. alow-frequency carrier
Q.2 o |>~ !h;: eomcanivily, Wien B the relstiemship Setaeen the clociriz feld B and the sirenl densdly T in g enidieting
"Ml‘-"'f- Question ID : 1860452344
Ans of 1. g= JE Status : Marked For Review
Chosen Option :1
X 2 o=1/ET)
X3 o=E/
X 4 g=EJ
Q.3 9 - 3 : g rag
‘What is meant by the polarisation of electromagnetic waves? Question 1D : 1860452345
Ans X 1. Status : Marked For Review

The polarisatien is the dircetion of the clectric cwrrent in aa clectromagncetic wave.

W2

Chosen Option :

1
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‘The polarisation is the direction of the electric fiald in an eleerromagneric wave.

P

‘The polarisation is the magninide of the voltaga in an electromagnetic wave.

X 4

The polarization is the inverse of the electric field in an electromagnetic wave.
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Q4 pind the gradient of the curve y= 3x%— 7x + 2 at the point (1. —2):
Ans 11

K2 22

X3 2

v i

Question ID
Status

Chosen Option :

11860452340
:Not Attempted and

Marked For Review

Q5 Consider an interfhce batween two dislectric matarials, one with o 2 while the other has ¢, 8, Ifthe tangenatial
compenent of elecic fiald on one wds o the nterface has & magrimde of 10" whst is the magnitudz of D1z
tangential compeonent of clestsic ficld on the other sids?

Ars of 1 10vim]

& 2 20vm]
K 3 2ym!
XK 4 sym !

Question ID
Status

Chosen Option :

11860452342
:Not Answered

Q6 The wave impedance of a medium is equal to:

Ans X 1. the refractive index of the medium
X 2

he refractive mdex of the medinm divided by tha wave impedancea of free-space

W 3

the wave impedanca of free-space divided hy the refractive index of the medium

/< 4. the wave impedance of free-space

Question ID
Status
Chosen Option

11860452341
: Answered
:3
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